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ABBREVIATIONS 
R:         ring 
Ch :     chain 
SP :      Split ring 

- picot 
+  :      join 
DS :    double stitch 

Cl :      close 
VSP :   very small picot 
CTM  thread    
Down picot  



 
VASE 
R1 = 4DS – 4DS. Cl. 
Ch = 8DS( +) - 8DS. Cl. 
Ch = 14DS( +) -  14DS. Cl. 
Ch = 10DS 
 
R3 = 4DS – 4DS. Cl. 
Ch = 8DS( +) -  8DS. Cl. 
SR 3 = 18DS/18DS. CL                 
R2 , R4, R5, R7 R8 are equal to R1. 
R6 and R9 are equal to R3. 
 
MOUTH VASE 
Ch  = Make as many points as necessary to surround the mouth of the vase. Make the picot as 
needed. Cut and tie. 
 
BRACE YELLOW 
R = 3DS- 3DS. Cl.  
Ch = 30DS 
SR = 3DS/3DS. Cl. 
Ch = 15DS + R. Cut and tie. 
 
FLOWERS 
1º flower 
Ch = 15 DS (double) vsp 5 DS vsp 15 DS – (picot inverted) 6 DS. 
R1 = 3DS – 3DS. Cl. 
Ch = 6DS + ( - R1) 6DS. Cl. 
R2 = 3DS – 3DS. Cl. 
Ch = 6DS + (-R2) 6DS. Cl.  
Ch = 6DS + down picot. 
Repeated twice to form a flower. Cut and tie. 
 
2º and 3º flower 
Ch = CTM in 1º picot 15 DS - (down picot). Make the flower. 
Ch = CTM in 2º picot 18 DS - (down picot). Make the flower. 
 
 
 
 
 
 
 
 


